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Defence and Strategic Studies

Paper 1II

T U 9WRen 3rega
qy-utseRt 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT ¢ A1 TRAULEhA THY IR (100) g0l W foerel ofed. Jish JReren g (2)

U Sed. @d U Wi

[Maximum Marks : 200

1.

(1) All cultures condition their
members to think certain ways,
while at the same time
providing preset responses to

given situation.

(2) This culture bounds our
perceptions and the range of
options we have for responding

to events.
Codes :
(A) Both (1) and (2) are correct
(B) (1) is right and (2) is wrong
(C) (1) is wrong and (2) is right

(D) (1) and (2) are wrong

(1) ©& G&pdt e wee fafirse
T foaR v 372 Serdrd, &=
bt foctean uitfeerdten geffi=a
EIREIEEEGI

(2) T TERdl MU SFIHA S0
TEHAT Y SUATEE] Seehe
A AT HAlRd SR

Hehdich :
(A) (1) 9 (2) I X
(B) (1) SRIsR M€ M0 (2) S
(C) (1) I TR W07 (2) s 378

D) (1) 9 (2) <= IF &

[P.T.O.



Which is not a psychological aspect

of war ?

(A) Leadership

(B) Morale

(C) Discipline

(D) Military technology

Who wrote the book ‘Armament and

History’ ?

(A) A. T. Mahan

(B) J. F. C. Fullar

(C) Liddel Hart

(D) Palmar and Perkins

Which of the following thinkers
rejected the old condotlieri system
and favoured the idea of national

troops ?

(A) Giulio Douhet

(B) Niccolo Machiavelli
(C) Liddel Hart

(D) Karl Von Clausewitz

2.

JUN - 16220/II—C

FETdet Erelieiie! B TEEE e
T ?

(A) g

(B) Hferan

(C) fora

(D) TR AN

‘oA ofe fewdl’ © g&w wION
ferfeet 2

(A) T 3. WM

(B) 3. TH. H. HEeR

(C) fafea =i

(D) R e7for ufer—q

Tt wiven faaradH siiee
Sielecterd fag Tehre T 9 ek
1 foemE vt feedt ?

(A) fifash =fea

(B) frerell Herfegeft

(C) fafea =i

(D) HTad a1 FArSIaS




Who argued in a report to the
Security Council “peace should be
persued only through non-military

methods” ?

(A) Boutros Boutros Ghali
(B) Kofi Annan

(C) Ban Ki Moon

(D) None of the above

(1) State behaviour is a function of

specific institutional orientations.

(2) The foundations of strategic

culture are societal.
Codes :
(A) (1) is correct and (2) is wrong
(B) (1) is wrong and (2) is correct
(C) (1) and (2) are wrong
(D) (1) and (2) are right
What does Paris Accord refer to ?
(A) Climate change agreement
(B) Military agreement
(C) Peace Accord

(D) India-Pakistan Dispute

7.

JUN - 16220/I1—C

“ordfent I widar weenfud et
st GRe TRt HEd v T
3 YT MU T HEl AW ?

(A) JH FH =Tl

(B) %l =T

(C) 9 kil A

(D) eRIeTdehl <hIUIGEl el

(1) Tg o @ forfdree Heem stfigeds
HE 3R

(2) WWRE FEhHdrET STER g1 HHISh
3e.

Hehdiah :

(A) (1) s enfor (2) g%

(B) (1) I A0 (2) S

(C) (1) =T (2) 9=

(D) (1) (T (2) s

TRE fHRE FHIMEr Hafgd oA ?

(A) TAMM & IR
(B) whil IR

(C) TR IR

(D) YRA-TIfeh&™ oS

[P.T.O.



10.

International Tsunami Information

Center is located in :
(A) Honolulu

(B) Port Blair

(C) Tokyo

(D) Jakarta

First BIMSTEC Disaster Management
Excercise 2017 (DMEx-2017) was
held in :

(A) New Delhi
(B) Dhaka
(C) Panjim
(D) Chittagong

Who is the head of State Executive
Committee (SEC) constituted under

the provisions of Disaster

Management Act, 2005 ?

(A) Chief Secretary of State
(B) Cabinet Secretary of State
(C) Chief Minister of State

(D) Home Minister of State

10.

JUN - 16220/I1—C

ST AT a1 5

fommft oTR.
(A) BHII]
(B) WE =ieW
(C) arferan
(D) et

2017 U faUESsh SO SHEETIA

NN,
?

Fardd kv foshmoft sheft Bl
(A) it feeedt

(B) <1

(C) dSiH

(D) fedme

2005 =T UK AT IS

o N

TEITER U SRsRl Gifd=n g

HIU STEA ?

(A) TSI qBT |iHd

(B) TSI wfae gfed

(C) Tsar=a HEAw

(D) TN TRHAT




11.

12.

13.

Earthquakes are measured

using :

(A) Barometer
(B) Seismograph
(C) Polygraph
(D) Altimeter

Which is the only active volcano in

India ?

(A) Mt. Etna

(B) Mt. Vesuvius

(C) Barren Island
(D) Christmas Island

The Fukushima nuclear reactor was

damaged due to :
(A) Bomb Explosion
(B) A typhoon

(C) Heavy rain

(D) Tsunami followed by earth-

quake

11.

12.

13.
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N

[sicdl

Ieh T WICHTUhT IV ST

S ?

(A) HIX
(B) HreHUT®
(C) diferum
(D) 3THR

TRAHEd Wihd SaTeE! Treierie]

v oot e ?
(A) H&He T

(B) WAe agfaad

TR YTHT SATfUereh STU[HET HIMS JLard
El

(A) ST ThHI
(B) <EHA

(C) Afaast

(D) YU 3Teielt AT

[P.T.O.



14. Match the following terms with the

15.

regions they are associated with :
List I

(@) Cyclone

(b) Typhoon

(¢) Hurricane

(d) Willy Willy
List II

(1) Atlantic and East Pacific

(2) Australia

(3) Western North Pacific and
Philippines

(4) India and South Pacific
Codes :
(@ B) @ ()
A @ @ @O @
B 3 @ @ @
© @ 3 @O @
O @®» @ B @

Where is the Asian Disaster

Preparedness Centre located ?
(A) Dhaka

(B) Bangkok

(C) Kathmandu

(D) Jakarta

JUN - 16220/I1—C

14. Eefid Hehed T v geemen ffea

15.

M M AT Sl ool
et 1

(@) GTIFRAH

(b) TEAHRT

(c) Bl

(d) foeit foreit
It 11

(1) feafesn emfor gd dfafres

(2) sefern

(3) ufv=am I dfefther oo fmefidi==

(4) 9RG MU WY Uraithen

m M

(@ @) () ()

A @ 2 @O B

B 3 @ @ @

@ 3 1 @

O QO @2 @B @

SIS STI< T she v faemmon
AR ?

(A) @Il

(B) ehih
(C) FreHE
(D) SATeRTdt




16. A flash flood is a flood which :

17.

(A) Is caused by continuous heavy

rain
(B) Occurs only in urban areas
(C) Occurs suddenly and

unexpectedly and for a short

duration

(D) Is caused by blocking of drains

(1) The September terrorist attacks
on W.T.C. have put new
emphasis on strategies of

prevention and pre-emption.

(2) Terrorist attacks will demand
even better intelligence than
the strategies of containment

and deterence.
Codes :
(A) (1) and (2) are correct
(B) (1) is right and (2) is wrong
(C) (1) is wrong and (2) is right

(D) (1) and (2) are wrong

16.

17.

JUN - 16220/I1—C
AR R B el e i
e ?
(A) Fad=a1 SH TSUAl qIedHes

(B) e ¥R 9T Tegd Al

(C) oTTUferd oTfYT STHMIY d hIel
FHIBHST IEHAURT

(D) T o% FATeAHeS

(1) F<sR e e <8 T2 AT
TR TeeTes Toetl 2Tetul SIfor
Tl BUAETe TERERT 3UT E.
B GRTeR faviy @i quAE 3.

(2) TEICER! BeTAHIS! ST qA 31T
TRIEATIET TR FUEStd fovadH
Hifed! STewds ..

Hehdich :
(A) (1) 3707 (2) St fae™ SRR 3Tea

(B) faum (1) sler a7ftr faem (2) 9%
S

(C) faum (1) == snfur fagm (2) shieR
e

(D) (1) @fur (2) <=l faem I 3fed

[P.T.O.



18.

19.

Which is not a part of Guerrilla

warfare ?

(A) Dialogue

(B) Hit and Run

(C) Peoples Support

(D) Geographical Knowledge
Assertion (A) :

USA’s military expenditure increase
in recent years accounts for almost
half of the world military

expenditure.
Reason (R) :

The global financial crises and
economic recession had little impact

on world military expenditure.
Codes :

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(C) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(D) Both are wrong

18.

19.
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WTATATeh! Il 9T T shrem &1
RECECICIN 11

(A) HeE

(B) ARl 37T Tesu1

(C) arepr=n difcan

(D) ¥rifas A=

oHAd (A)

Ifasmeta wTerd AR =ET AR

WA d1E B Sodsae Sdiel oshd
T 3Tt gaent IR

difeherar (R) :
STt foita SergE enfor enfefer wet

g1 SATaeh ARy TETa IS

TR Se SR,
PO
(A) (A) TR TG (R) T TR

(B) 3T (A) 3T (R) =R 9 (R)
T (A) 9 I TR0 TR

(C) BT (A) 3Tfr (R) sk g (R)
T (A) = 4rg TS 3T

(D) <= IH

10



20. Assertion (A) :

21.

Indian Government agencies have
been working on plans to counter

social media radicalisation in India.
Reason (R) :

A Whatsapp group of Maulanas
has been created to devise a
communication strategy to prevent
radicalisation of youth.

Codes :
(A)

Assertion (A) is correct but

Reason (R) is incorrect

(B) Both (A) and (R) are incorrect

(C) (A) is correct and (R) is the

correct explanation of (A)

(D) (A) is correct but (R) is not the

correct explanation of (A)

Wars that seek to capture political
power through armed struggle are

described as :

(A) Insurgency

(B) Revolutionary war
(C) Civil war

(D) Terrorism

JUN - 16220/I1—C

20. o™HAT (A) :

21.

TRATI HIHTTSIR AL S Herdeana!
T @ TS YRA TR T

AR HE Hid 38,
dtfehehal (R) :

TEUT=AT FerdceTeg Hrerat=n
Hlequd 4 i wEd A=At 9
HIYAT Al TTeh R

Hendich :

(A) IMHA (A) SeR T difenshdl (R)
kSd

(B) 31 (A) anfor (R) <%

(C) (A) =R 7T (R) € (A) ¥ 9 g
TR0 B

(D) (A) SR 701 (R) ® (A) 9 I
TR AT

TTeeTdeh! IO JEUGareT oTshi]
GEof=Aa] AN TSTh1d Hodl hisS
G Teh GUE AFA S 2

UNBELICELS
(B) wHifasrl IS
(C) T Is

(D) <TERIAR

11

[P.T.O.



22.

23.

Olof Palme’s argument that states
can no longer seek security at each
other’s expense is understood as the

concept of :

(A) Collective security
(B) Human security
(C) National security
(D) Common security

Which of the following is not a pillar
of the United Nations Global

Counter-Terrorism Strategy ?

(A) Addressing the conditions
conducive to the spread of

terrorism

(B) Measures to prevent and combat

terrorism

(C) Build state’s capacity to prevent
and combat terrorism and to
strengthen the role of the
United Nations’ System in that

regard

(D) No guarantee or respect for
human rights and the rule of

law

22.

23.

JUN - 16220/I1—C

ST e Fr= 3191 I 3718 foh Hiorst
T ] GUHTAHE! H-a1 L=
YUoTAdel ekl digee] Wehd RN &l
Tl ETeTdehl IVl GEIeh A

a2
(A) |rfesh grem
(B) HIet HRa&T
(C) TS Han

(D) | e

Tk ShIOTdT ] BT TIeT TSl

SIfaeh  CEYaaeIoasg  SUTd— STl

SOOI SYREY ATer ?

(A) SEIMARTAT JHRMEE! TR

3TEeTe TR @187 shald shul

(B) SEYIQEIGrEl WEAT hIvdrd ST
@I I HIL00

(C) TSaT=! <ReIaaeRi fFevar=h &wd
UL HewAT HSfed HI

(D) |l BRI hIvder gHI fohal

3T R A0 HEea= T
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24.

25.

26.

‘The Carabinieri’ are a politico-

military force in which country ?
(A) Mexico

(B) Spain

(C) Italy

(D) Portugal

The First World War was brought

to an end by which treaty ?
(A) Treaty of Versailles

(B) Treaty of Trianon

(C) Treaty of Westphallia

(D) Treaty of Saint Germain-en-

Laye
NMD stands for :
(A) Nuclear Missile Defence
(B) National Military Doctrine
(C) National Missile Defence

(D) Nuclear Military Doctrine

24.

25.

26.

JUN - 16220/I1—C
T ST’ ShIv SeHER T TSTfaeh
TR T AR ?

(A) Hferah]

(B) &

(C) seof

(D) et

o N

Yled

ARSI AR HINIER

AT OIS el 7
(A) =EgiE=l q@

(B) Frm=1 €

(C) IEHEBEET T8
(D) 2 < gd=n
T TH. E. WIS & ?

o

(A) iR foeEa fe

-
A

oo [a N2 o

(B) FIHE MGl Sl

(C) e frera fewy

(D) iR fafeed SlauEa

13
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27.

28.

(1) When the P-5 all agree to
authorize the deployment of a
UN peace operations force,
problems can still hinder
effective UN intervention.

The P-5 tendency to ‘talk the
talk’ but not ‘walk the walk’.

Codes :

(A) (1) and (2) are correct and (1)
is the rationale for (2)

(1) and (2) are correct and (1)
is not the rationale for (2)

(2)

(B)

(®)
D)

(1) and (2) are wrong

(1) and (2) are wrong and (2) is
not the rationale for (1)
Russia and China obstructed

UNSC Resolutions on peace
operations in Haiti.

(1)

Russia wanted UN endorsement
of its own intervention in
Georgia in 1994, while China
was seeking an apology from
Haiti for inviting Taiwan’s Vice-
President to the inauguration of
Haiti’s new President in 1996.

Codes :

(A) (1) and (2) are correct and (2)
is the explanation of (1)

(1) and (2) are correct and (2)
is not the explanation of (1)

(2)

(B)

(C) (1) and (2) are incorrect and (1)

is not the explanation of (2)
(D)

(1) and (2) are incorrect and (1)
is not related to (2)

27.

28.

JUN - 16220/11—C
(1) Siegr 91-5 Fail 91 e 9gad
e wrE drefararrel w9
T LA TS 3T
(2) -5 =i Yot & ‘dien d dren’ s d
g 'aren @ \en’’ e A
Hehdiah :
(A) (1) =mfor (2) &R 31T (1) 7 (2)
T AT FHRO AR

(B) (1) 37T (2) =R W (2) ¥ (1)
o DTSRI AR

(C) (1) =7 (2) 3ret I

(D) (1) Ao (2) 3= T A0 (2)
T (1) ¥ Irg HIO AR

Il Heffal 9Tiadr T ergr=al
Fagdied UNSC =1 SUaren Um
afor = STSUeT ATl

T 1994 [t SISt Heid
e gEAagen UN =i | gail
Bt sfor foen Rediehed AR
Y BIdl U1 1996 HEY Bar=l 7o
e STeAE FARY faeft arrem==n
IUSTHEGHT SeTeel Bl

S

(A) (1) 3Tfor (2) sER 3R S (2)
T (1) ¥ R TqSh{U 3T

(B) (1) 311 (2) SR 37§ A0 (2)
T (1) I TR ARl
(C) (1) =nfor (2) I A 01 (1)

(2) 9 TR0 RN

(D) (1) 37T (2) =k 3T (0T (1) =
(2) M wE oy AR

(1)

(2)

14



29.

30.

(1) The United States and its
European allies had completely
different perceptions of the

Bosnian conflict.

(2) The European powers saw an
ethnic conflict and US saw it as

a war started by Serbia.
Codes :

(A) (1) and (2) are correct but (2)

is not the reason for (1)

(B) (1) and (2) are correct and (2)

is the reason for (1)

()

(1) and (2) are not correct and

(1) is not the reason for (2)

(D)

(1) and (2) are not correct and

(1) is the reason for (2)

The headquarters of the African

Union is located in :
(A) Johannesburg
(B) Addis Ababa
(C) Nairobi

(D) Kampala

29.

30.

JUN - 16220/11—C

(1) SRR =7ftr == JATEA weart

(2) JUTTE TR ArTRS AT HeTs

TEUH Tifest W TG T J5 e
& hal 3 Tiies.

03 K3
-
.

(A) (1) 3for (2) SRR G (2) 7 (1)
= HRO R

(B) (1) 37fr (2) gt sRIeR 3T (2)
T (1) ¥ 919 HRO e

(C) (1) 37fur (2) § =2t == M7 (1)
% (2) I HRU AT

(D) (1) 37T (2) S Fepia TG (1)
? (2) 9 SO IR

sfRRd T Foea™ 9@ S
ATl T :

(A) STeger

(B) 3TEIY ererell

(C) it

(D) hHTeT

15

[P.T.O.



31.

32.

33.

When was the North Atlantic Treaty

Organisation established ?
(A) 1949
(B) 1950
(C) 1945
(D) 1940

Name the first Prime Minister of

Pakistan :

(A) Sikander Mirza

(B) Liaquat Ali Khan

(C) Khan Abdul Gaffar Khan
(D) Muhammad Ali Jinnah

United Nations “Uniting for Peace”
resolution was adopted in the back-
ground of which International
crisis ?

(A) India-China War

(B) Korean War

(C) Cuban Missile Crisis

(D) Arab-Israeli War of 1967

31.

32.

33.

JUN - 16220/II—C
SR SfeAleh HIR-FeeAE! (A1)
QAT hegl Fredl ?
(A) 1949
(B) 1950
(C) 1945

(D) 1940

qrferear = Ufgcar 9duenar= A

o)
(A) foewr<z fosr
(B) formea otell @™

(C) TH 3Tsgd THFRR T

(D) HigHg el TS

“gTiErer T @1 SUd WgEd TSt

N .

HIUT] YO Jdoiid TId Shaurd

e ?

(A) 9G-=H g3

(B) ®RIEA I3

(C) geT= &UUME Fers

(D) 1967 @ TE-HWA IS
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34. The Gulf Cooperation Council (GCC)

35.

36.

was established in :
(A) December 1980
(B) March 1976
(C) January 1967
(D) May 1981

Which of the following countries is
not a founder member of the United

Nations ?

(A) People’s Republic of China
(B) Republic of China

(C) Argentina

(D) United States

When did India announce Look East

Policy ?
(A) 1991
(B) 1992
(C) 1993

(D) 1994

JUN - 16220/I1—C

34. TH RIS hIHeT= THTIAT v

35.

36.

e HIOAG AT 2
(A) fe&sr 1980
(B) #€ 1976

(C) et 1967

(D) ¥ 1981

TTCiTeTdeh! RIOTAT QT TR ST

T 9 el ?

(A) T9ed Tusciier 31t =T
(B) Rusciter 37w =T

(C) 3wsife

(D) Fges RH

TRAM HI0AT Hiell ek 38 G100
qEhA 2

(A) 1991

(B) 1992

(C) 1993

(D) 1994
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37.

38.

39.

40.

Which is the highest body that

finalizes India’s Defence Policy ?
(A) Prime Minister

(B) President of India

(C) Cabinet Committee on Security
(D) Joint Chiefs

When did the UN Millennium

Development Goals end ?
(A) 2014
(B) 2015
(C) 2016
(D) 2017

Which set of countries India’s Look/
Act East Policy refer to ?

(A) SAARC

(B) ASEAN

(C) Indo-Chinese Countries
(D) None of the above

Which one of the following is not a

determinant of defence expenditure ?
(A) Leadership
(B) Ideology

(C) National power

(D) Public enterprises like post office

37.

38.

39.

40.

JUN - 16220/I1—C

WCAAdeh] ShIRT Holled HIHT TR
T Aidten Afaq @Ey d 2

(A) JagHH

(B) gt

(C) ganm wfee wftd

(D) THEd Jq@ (Sifge =HH)

7. T1. = fafafm Ssadde Med wH
a9 ?

(A) 2014

(B) 2015

(C) 2016

(D) 2017

CICATCTUhT hIoTeT ST T2 BT WRar=
/3T T Tiferdre Heufdier o1 ?
(A) ¥

(B) eTf¥rEm

(C) TSP

(D) SeTient Qe el

WTATAUeh! STl SI2eh 1 HL&I0T= S
fruita swoaRt gefaa A& ?

(A) %ﬁcc_ol
(B) fo=mumn
(C) U &t

(D) S wEfad w9 fo& 9%
AR
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41. Under whose Prime Ministership, | 41. @Iiciushl ShIv TATEMI=A hiedd ok
the Look East Policy got rechristined IR Ui THw e R difed
as Act East Policy ? w2
(A) Manmohan Singh (A) HHE fam
(B) Narendra Modi (B) Wz At
(C) Atal Bihari Vajpayee (C) ote ot arsTu]

(D) None of the above (D) SRIeAUeh! HIURITE! T8t

42. Which set of countries was involved | 42. TIeiiciden! IV L= T 1999 =
in 1999 war ? JgId gt B ?
(A) India-China (A) WRa-==
(B) India-Pakistan (B) R -TifeRe
(C) India-Bangladesh (C) YRA-SFaRl
(D) India-Nepal (D) YRd--are

43. Which country came into existence | 43. WTeiiciush! IVl <9 1971 =1 JFHMR
due to 1971 war ? AR e ?

(A) East Pakistan (A) Tf RUESIE

(B) Bangladesh (B) ®aRY

(C) Myanmar (C) =MHR

(D) None of the above (D) eiefteh! HIvEE e

44. What is POK ? 44, .IEH. WS
(A) Proof of Knowledge (A) I% 3 el
(B) Pak occupied Kashmir (B) U SAHIEE HITHI
(C) Power of Knowledge (C) TR 3k Aferst
(D) None of the above (D) S{cTUsht I ATel
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45.

46.

47.

What does Aksai Chin refer to ?

(A) Disputed border areas between

India and China

(B) Disputed border areas between

India and Pakistan

(C) Disputed border areas between

Pakistan and China
(D) None of the above

In which year chemical weapons

convention was signed by India ?
(A) 1995

(B) 1996

(C) 1998

(D) 1993

ACWC stands for :

(A) Asian Cyclone Warning Centre
(B) African Cyclone Warning Centre
(C) Arabic Cyclone Warning Centre

(D) Area Cyclone Warning Centre

45.

46.

47.

JUN - 16220/11—C
FFE HH Wielidsh! wmemEl ffeq
e ?

(A) YRGS = I Yia aerdid

U

[a)

N
HHdA

[aY

(e

(B) 9Rd o1 gfepsar ar=n
SRTAIA HIT

(C) urfersarE 3mfor <9 == HHaiid
G I

(D) =RIAUeh! HIURE! T8l

FHIUIT IS qRA™ hfAeRd 99

FHARIAR e el ?
(A) 1995
(B) 1996
(C) 1998

(D) 1993

TH. T . WS

(A) TREE grEdd it @

(B) aMfherd OEEAE a4 deX

(C) faw TR gl T

(D) TR wEEE ST Hex
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48.

49.

Which one of the following countries

used biological weapons in war ?
(A) Iraq

(B) Iran

(C) Russia

(D) Japan

One of the following biological agent
was sent by post to US politicians

in 2001. The name of the biological

48.

49.

JUN - 16220/I1—C

ETeAeTdehl IV T9 JETd ST

IS Al Bl ?
(A) T
(B) =
(C) =

(D) ™

2001 H& GRS ZqTeegR AR TSTehed et
I Sfowyed TefavaE e B N

g e
agent was ......c.......... .
(A) =
(A) Plague
(B) f&EH
(B) Ricin
_ (C) & sFYgd
(C) B. Anthracis
(D) Botulinum Toxin (D) i° 2T
50. Which one of the following is not a | 50. WICicIenl IV I T Sifeeh JguGdrii
potential biological warfare agent ? ARk Sifsh ¥& Al 2
(A) Leukemia (A) Toremit=n
(B) Ebola Fever (B) Sairen fthe
(C) Marburg Fever (C) ARer fher
(D) Smallpox (D) ®H(cTaTe™
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51.

52.

The term “Nuclear Weapon State”
(NWS) and Non-Nuclear Weapon
State (NNWS) is found in which one

of the following treaties ?
(A) Treaty of Westphalia
(B) Treaty of Versailles

(C) Strategic Arms Limitation

Treaty

(D) Nuclear Non-Proliferation

Treaty

Under the Nuclear Non-
Proliferation Treaty (NPT) how
many countries are recognized as

nuclear weapon states (NWS) ?
(A) Nine
(B) Ten
(C) Five

(D) Zero—No countries can possess

nuclear weapons

51.

52.

JUN - 16220/I1—C

ST ATV foATTvaea g™l s

ATkl hivTcar el Hed |Hifose

ed ?

(A) AEHRITAAET TR

(B) =9l q8/aIR

(C) TRk IS Haiel (Fa1d) Tel

(D) AU IR &l hil

e STUSEAYR TS Sl WIS
e ?
(A) T=
(B) <=1

(C) 9=

(D) IE—HIVAE TISTea S0
E
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53.

What are the “Three Pillars” of the

Nuclear Non-Proliferation Treaty

(NPT) ?

(A) Nuclear weapons, Chemical

weapons and Biological

weapons

(B) Disarmament, Non-Proliferation
and Peaceful uses of Nuclear

technology

(C) Strategic Bombers, Ballistic

Missile and Submarine

(D) All of the above

53.

JUN - 16220/1I—C
U JER &Gt HO T ey
HIO SR 2
(A) evelsr, TEEfE enfo Sifaw
IS

(B) T:3rEentor, ToreRt Afor Saaraa

FEAMEIST UGS TR

(C) Tfomeh sifrerd, Soreien faaméa s
RILEERll

(D) =ierdeh! we

54. Which one of the following countries | 54. 2016 H& Heiedl MUah & FMER
did not take part in the final Nuclear SO YOI T TR Hieget
Security Summit held in 2016 ? T 2
(A) United Kingdom (A) foea (Fee faren)

(B) Russian Federation (B) ™A BelyE
(C) Kazakhstan (C) e
(D) India (D) ¥Ra

55. The location where Pakistan had | 55. 1998 W&J W& WIeicTush! IV
tested its nuclear weapons in 1998 TR SVeeh ST Ao shefl 2
was : ..

(A) Chagai Hills (A) =TI YA
(B) Lopnor (B) R
(C) Khyber Hills (C) W& T
(D) Karachi Test Range (D) HT= G=el HeH
23 [P.T.O.



56.

57.

58.

Which of the following is not an
element of conflict prevention

technique ?

(A) Tribunal
(B) Mediation
(C) Good offices
(D) CBMs

Cartagena Declaration of 1984

refers to :

(A) European Declaration of
Refugees

(B) South Asian Declaration of
Refugees

(C) Latin American Declaration on
Arms Race

(D) Latin American Declaration on

Refugees

Who was appointed as the first
Scientific Advisor to Defence

Minister ?

(A) Dr. D. S. Kothari

(B) Dr. Raja Ramanna

(C) Dr. B. G. Nag Chaudhari
(D) M. G. K. Menon

56.

57.

58.

JUN - 16220/I1—C

@oiedeh! IOl Sk To6 Hfdeieeh
AT ATE ?

(A) —mTfEERTor

(B) Wl

(C) =M HITH

(D) =t . Ty

[a N oS o

1984 =41 ST SfedAT shemet frfeq

A ?

(A) Traifaar=n gaftes e
(B) fratfaaren g oy sfetam

(C) I ToYidreder offed STHfeh=
SUESIE

(D) Traifaarn <ffeq smftenan snfem

TRETOT HATS SR TR WA JeH

ot gt wrelt ?
(A) Bl . TH. HE’I
(B) . TS =1

(C) <. of. Sft. A <rerd
(D) . S & T
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59. The full form of B.E.M.L. is ......... .| 59. &t 3 TH TA. W YU W&U YEd-

(A) Bharat Engineering Machines AR
Limited (A) 9Ra SRR AfmY fafrees

(B) Bombay Earth Metals Limited (B) el 319 Aoy fafaee

(C) Bharat Earth Movers Limited (C) vwRa &1 gegd fafiee

(D) None of the above (D) Ik ShIUaE ATal

60. (1) Unity of Command is less | 60. (1) ¥dal AR HAST Thdd
assured in peace operations. @ET FH 9.

(2) Peace forces are often drawn (2) TEOTT) TSI "ﬂ?‘ﬁ Jeq A
from a wider variety of troop 31 % 41 qHETE ATEA O
contributing states than in fafer oo e e .
normal coalition warfare. .

Tehdlah :

Codes :

(A) (1) 9 (2) IR 3T A0 (2) &

(A) (1) and (2) are correct and (2)

(1) =1 d 3R
is the rationale for (1)
B) (1) 9 (2) TR o (1

(B) (1) and (2) are correct and (1) (B) ()9 (2) e S
is the rationale for (2) (2) 1 T oM

(C) (1) and (2) are incorrect and (1) ©) V)9 (@2) T% e S (1) 7 (2)
is the rationale for (2) U

(D) (1) and (2) are incorrect and (2) D) (1) & (2) I 3R 0 (2) 7 (1)
is the rationale for (1) o T TR
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61.

62.

63.

The wars in Iraq (2003) culminated

in regime change of :
(A) Sunni regime

(B) Shia regime

(C) Baathist regime
(D) None of the above

UNSC Counter-Terrorism Committee
is assisted by CTED. What does
CTED stand for ?

(A)

Counter-Terrorism Executive

Directorate

(B) Counter-Terrorism Committee

Executive Directorate

()

Council of Counter-Terrorism

Executive Directorate

(D) Counter-Terrorism and

Executive Directorate

Which one of the following is not an
international organisation as per the

definition given by Inis Claude ?
(A) United Nations

(B) G-8

(C) SAARC

(D) NATO

61.

62.

63.

JUN - 16220/11—C
2003 HHi@ U IEra1 TROMH TUH

AT ShIOTT Sl THeTe ArTell 2
(A) gt TStee
(B) fern USae

(C) oI TSae
(D) IAUeh! hIvTdEl ATel

TR T GLa Wi Seerama foeg
TEUATIS! ST AT T hell 38«
Tffdien Agd wXvaEel 9.ag gl =
TUTIAT  HITIATG ATST ATE.

WAL = g0l wEw QA S

(A) FEH gH THEIFRIT ST

(B) et R Hiudt wwirgfes
TS

(C) S A® HTH=<I UAFH
TR SERTE

(D) &=t AWieH i< THEiHf=
TERERE

3 Feite AN feeiean ARSTER @etiersh]
I ST HoA e ?

(A) HgF T

(B) fi-8

(C) |

(D) ==&
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64.

65.

66.

67.

The outer limits of the legal
continental shelf cannot exceed 350
Nautical miles from the territorial
sea baselines or 100 Nautical miles
beyond the isobath.

(A) 100 meters
(B) 200 meters
(C) 2500 meters
(D) 1000 meters

Which is the apex body of Disaster
Management in India ?

(A) NDMA
(B) IMD
(C) GSI
(D) NIOT

Which of the following days is
observed as International Day for
Disaster Reduction ?

(A) 15th October

(B) 21st June

(C) 30th June

(D) 13th October

Who amongst the following regarded

defence expenditure is truly as
‘Public Good’ ?

(A) Adolf Wagner

(B) K. Subramaniyam
(C) Adam Smith

(D) Prof. Maurice Dobb

64.

65.

66.

67.
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IefYTeh ST 350 HAffeshal Helraatn

Fifeded Jewm=al dred 1 fwar

(A) 100 HieX
(B) 200 HreX
(C) 2500 HreX
(D) 1000 Hiex

YRATHEY ST eI Fared |t
IO TS ?

(A) TIELTHT

(B) MH.WH.EI.

(C) S.uH.a1m.

(D) TA.37F.37.31.

AN A ~ o . a
ETeilerden! vl foad &1 e
Il hoTd fgerd U iesedl Sl ?

(A) 15 3AfeRIeR
(B) 21 SH
(C) 30 S
(D) 13 AR

WeAcish! vl § U8 eRal 3Ty fh
TREUMEEl @Y g1 el fearard]
Sl Y SR ?

(A) TSleh AR
(B) %. gow=H
(C) ofeH T

(D) WHER A 2fa
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68.

69.

70.

71.

Programme budgeting for defence

preparedness had its origin in :
(A) Britain

(B) USA

(C) Russia

(D) Australia

FATA belongs to which country ?
(A) Afghnistan

(B) India

(C) USA

(D) Pakistan

‘String of Pearls’ strategy against
India is adopted by which of the

following ?
(A) Russia
(B) Japan
(C) China
(D) USA

Which one of the following books

was written by Carl Von

Clausewitz ?

(A) On War

(B) The Art of War

(C) The Peloponnesian War

(D) Rise and Fall of Great Powers

68.

69.

70.

71.
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TRETU) TSSToeR SR STETSTIsTeh ShibghT
I YEId QU HATAl
(A) e
(B) 3R
(C) e
(D) i
TRIST W1 WA TeTehT ShITe Q¥TTd 3T ?
(A) STHIMTEH
(B) wd
(C) 4.wH.T.
(D) arfeh&™

TRar=AT fadiend ‘S wed’ & gl

TCATeTIeh! ST TIM WHHhRe  ?
(A) e

(B) MO

(C) =

(D) FTET,

TICTCThT ShIvNd J&ieh hict ai Farsiros]
T fafeat emR ?

(A) 1 aRr

(B) fg o affw =R

(C) f& Ueiifafeem af

D) TS 3T WA HE de TR
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72.

73.

Which of the following books is not
written by Mr. Zbigniew Brzezinski ?

(A) The Permanent Purge : Politics
in Soviet Totalitarianism

(B) Game Plan : A Geostrategic
Framework for the Conduct of

the US-Soviet Contes
The Grand Chessboard

American Primacy and its

(&)

Geostrategic Imperatives

(D) Frontiers, Security and

International Organisation

Comprehensive Convention on
International Terrorism is a
proposed treaty which provides a
comprehensive legal framework
against terrorism. Which of the
following countries has proposed this

Convention in 1996 ?

72.

73.

JUN - 16220/I1—C

ha o o Y

TTATeTdsh! HITd J&d HTfeaad

SEifsrent At fafeerer & ?

(A) T T IS : uifafesd 9 Hifaue
ferefietrem

(B) T = : i = feN® haas
TR fE wew AF J.ug.-Gifaue

EARKS|
(C) fe e Suare ; AT W 3t
1 ferrerefses sfqifess

I (RT) ok il Sgerdenan foaeg TR
AT HEIR  TEA-TEST 3Tt
& odl. JEIeTdehl IV IIM 1996
[eY WX HIECATA W@ HiEal ?

(A) HRd

(&) India (B) IMes fohired
(B) United Kingdom
(C) iR
(C) USA
(D) Austria (D) e
74. The 1973 war between Israel, Syria | 74. 1973 Wi IRE-3UEA g5 o fadr,
and Egypt is also known as : STy wed ool e o @ ST
YRIATHTY HAE0A Id
(A) June War
(A) A wdfa g5
(B) Tank War (B) TUTET W %
(C) Night War (C) T dAeaa IS
(D) Yom Kippur War D) I W IS
29 [P.T.O.



75.

76.

The term ‘Vertical Proliferation’ of

nuclear weapons refers to ............. .

(A) The phenomenon of countries
increasing and modernising
their nuclear weapons and

delivery platforms

(B) The phenomenon of countries
which do not have nuclear

weapons build nuclear weapons

(C) The phenomenon of countries

reducing the number
(D) None of the above

The International Monitoring
System (IMS), a network of global
monitoring stations has been
established as part of which one of

the following treaties ?

(A)

Biological Weapons Convention

(BWC)

(B) Nuclear Non-Proliferation

Treaty (NPT)

(C) Chemical Weapons Convention

(CWC)
(D)

Comprehensive Test Ban

Treaty (CTBT)

75.

76.
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oA 3Ueleh IR FHR RS

(A) Ul ST YRR &
T RIS T JT9R AT I
SN R F 3T QEMET Fg
CIE

(B) oW T foh < AvasERid AR

U SIS WK h{0AMES! h1aq

aTRd

(C) =T=f U2 foh & Tqea ST
A A

(D) =IAUh! IVl &l

qEIGTieh] IO HIRTAT 9T T

fa o

AL I IO THessTSah

FHOIEE] SMTfaeh  TER TW'LS\' RIKE

HOA A 3T 2

(A) Sifoss yrere geft

(B) U TER &idl hil

(C) THETeh IS Tl

(D) HAGHATEI AUEE JHR Sel Hhil
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77.

78.

The term ‘Detente’ deals with :
(A) Formulation of military alliance
(B) Strategic partnership

(C) Relaxation in military tension
(D) Joint military exercise

The NGO dedicated to the release
of political prisoners all over, is

known as :

(A) Amnesty International
(B) Red Cross

(C) Human Rights Council

(D) None of the above

7.

78.

JUN - 16220/I1—C

<Al B Geheu st ffed s ?

(A) TRy et fAfHdr
(B) 9mfer ariery
(C) TR qumamed ffereran

(D) UshiAd oTSH HdEd

AWay N e LN fa AN A
AUsilden  enell=dl Jeondial ClddiciHen]

vl fR IRt ToeT (TA.SH.87.)

FHERA R ?

(A) TR oo
(B) 3 %™

(C) #Mel ok UREg
(D) SRIcUeh! HIVRITE! 18T

79. The origin of the modern nation | 79 ST T T Tgdi=l 3H Weerieh]
state system is associated with one FU Frifed o 2
of the following :
(A) faw=n =i
(A) Congress of Vienna
(B) Treaty of Utrecht ®) @_n[ i
(C) Treaty of Westphalia (C) ST FR
(D) World War (D) Sfds IS
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80.

81.

(1)

2)

National Governments
frequently bypass the mission
command structure and issue
instructions directly to their

forces in the field.

The Governments of troop
contributing countries are
reluctant to let the UN do as
it will with their troops.

Codes :

(A)

(B)

()

(D)

(1) and (2) are correct and (2)

is the rationale for (1)

(1) and (2) are incorrect and (1)

is not the reason for (2)

(1) and (2) are correct and (2)

is not the rationale for (1)

(1) and (2) are incorrect and (1)

is the rationale for (2)

During the reconnaissance and the

reformation, there was a revival of

protest against inequality based

on :

(A)
(B)
()
(D)

Religion
Nationality
Wealth
Gender

JUN - 16220/I1—C

80. (1) o=uM= dosell THYM AT HFalal

81.

(2)

SE T TR fthee (ShEEETd)
I ST = STl s

HRY .

B den Sl UG ch U H{eh X

TG o2l AT T qoherl aTR

Sfoad Feh ohis QUATE g STHM.

- -
-
-

(A)

(B)

(&)

(D)

(1) =7for (2) SR 3007 (2) 7 (1)
= q& 3R

(1) smfor (2) ¥ oM oo (1) ®
(2) = SR AR

(1) smfor (2) SR 3R =AM (2)
T (1) = SR ATl

(1) mfor (2) =& o i (1) ®
(2) =1 qoh R

Frdreror STfoT GAdEAT ShadiAT STHAA=
Trerer. BIOM foliY B Shemer SR
Tl ?

(A)
(B)
()

(D)

el
T I
ot
fem
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83.

84.

enhances civil-military

integration which reduces the
burden of defence expenditure by
promoting technological sharing,
supply chains, technologies and dual
use technologies.

(A) World system theory

(B) Modernisation theory

(C) Linear stages growth

(D) Globalisation

Who among the following stated that

‘Geopolitics is a pseudo-science
erecting the factor of geography into
an absolute’ ?

(A) Mackinder

(B) N. J. Spikman

(C) Carl Haushofer

(D) Hans J. Morganthau

The International Monitoring
System (IMS) established as part of
the Comprehensive Test Ban Treaty
(CTBT) does not include :

(A) Radionuclide monitoring
facilities

(B) Hydroacoustic monitoring
facilities

(C) Satellite monitoring facilities

(D)

Infrasound monitoring facilities

82.

83.

84.
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TR Y FGNTA Shed™H FETon-

g0e ©Eid, S9id, a9 faefad
HITATES! ARTRERTE] EHF, JLael-
SIEATIAT AR Tehidd Hed d aud
AT AR fE=uead a= 3. |el
A5 a3 Tehdl. BT TR BTeTerish]
1 fggram=n 9m o ?

IOt
(A) SFTfaes Ygaren fagm
(B) emyfenteRtomen fagid
(C) faferR V'S Wy

(D) SRR TR0

XS TS 3T8 T 3T i T8
Rl TR USRI Seehrl FHfHd
L

(A) w1 Hfeh=t

(B) TA. . TR

(C) el BIRIH

(D) B9 . A
FHHERT S0 THR aG] HIr=l i
= FHeel e Aeia el ?
(A) YeTgease fesoeTee= oo

(B)

(a o (a)

SgrehIieh HIsaea=] Haesd

(C) 3wre frE=runered=l Heed

D) TAREES BREMIEIENEIRIEEN
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85.

86.

Arrange the following concepts in
the chronological order of their
appearance. Use the codes given

below :
(z) Theory of separation of powers
(z1) Concept of ideal state

(z11) Concept of general will

(tv) Withering away of the state

Codes :
(A) @)
(B) @)
(C) @)
D) (@)

() @ @)

@) Gv) @)

@) @ Gv)

@  GQv) @)

Choose the correct option about
disaster cycle :

(A)

Response, Recovery, Prepared-

ness, Mitigation

(B) Recovery, Response, Mitigation,
Preparedness
(C) Preparedness, Mitigation,

Recovery, Response

(D) Mitigation, Preparedness,

Response, Recovery

JUN - 16220/I1—C

85. Weldl FehoUdl HICIHHITIR 3Tricad

86.

¢) g favrsamrn fag@

(i) STREl ToATE HehedH
(i) WTHfEsh $e1 Heheul
(fv) T TR B9
Hehdich

A) @G Gv) @ G0
B) G @) Gv) @)
(C) G) @) @ (v)

D) @) @) (v @)

STURI=AT hTeTshT=] STeiieTdehl ShIoTdT

T qEg e A feer

(A) 9fqER, qIarw, qosidl, ST

(B) gAUIw, UfqER, SUSEHA, oo
(C) HSSIdl, SURMH, YAwiwl, i

(D) WA, FeordT, GfdeR, gAgiwr
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87. Choose the appropriate code for 87. wreieeR S (A) ST qERvERT (R)
Assertion (A) and Reason (R) as . ‘w3
given belov(v:) " I FRAA A T
Assertion (A) : ST (A)
War finances are the main backbone ISTHIA o el & T Hisw
of a warring nation without which ST SRT= 0T ST Sr=frer
it cannot think of winning a war. q g5 A fem %% w1 -
Reason (R) : qhgTeRt (R) :
Defence Economics is new academic STV ST TRET TTSRARIA TREh TS
discipline for defence researchers WO UM B AT
and economists. 3R,
Codes HadiF
(A) (A) is false, but (R) is true (A) (A) TF I T (R) TR
(B) (A) is true, but (R) is false (B) (A) SRR % q{q\ ®) =F -
(C) Both (A) and (R) are true and
(R) is not the correct explanation (C) (&) ST (R) TI=T SIS 3T S
of (A) (R) ¥ (A) ¥ Ir9 TR0 T8
(D) Both (A) and (R) are false (D) ==t (A) T (R) I oM
88. Adam Smith wrote the book entitled, | 88. 3fed &y =Ml ‘3 el 32 fo
“An Enquiry into the Nature and T 3 FiT 3(F ¥ 3(F® 3"’
Cause of Wealth of Nation” in the T & s ot fofeedt ?
year ........ce.... . A) 1843
(A) 1843
(B) 1790 (B) 1790
(C) 1776 (C) 1776
D) 1724 D) 1724
35 [P.T.O.



89.

90.

91.

Which of the following is not the
method of resource mobilization

during the war ?
(A) Loan

(B) Taxation
(C) Borrowing
(D) Savings

Which is the multilateral treaty
proposed by United Nations to
regulate international trade in
conventional weapons in order to

prevent arms trafficking ?

(A) Arms Control Treaty (ACT)
(B) Arms Trade Treaty (ATT)
(C) Arms Prohibition Treaty (APT)
(D) Arms Reduction Treaty (ART)

Expenditure on acquisition of assets
like land, building and machinery,

would come under ambit of ......... .
(A) Capital receipt

(B) Aggregate demand

(C) Capital expenditure

(D) Revenue expenditure

89.

90.

91.

JUN - 16220/I1—C

TATeUh! IV T5d & JEhIand

eI THATE 96 T ?
(A) sl

(B) fafay g =+

(C) SUR-FHHTERI

(D) fafay yerr=t ==@

IR SR Z[BUATETS! SRS

TRUS YT SATIREEd e
TSI YEleTueh! IV SIgSe Teh Sharl

T HIER ?

(A) I s e
(B) I AR Gt
(C) T &G qeft

(D) IS HUd T

ST 'R, faeeim snvem, afymd=n

WET Y HIGHHTS! hedl SR &=

GCACTUeh! ShIUTST STREIRIA 3 STE 2
(A) Wiedes JTet

(B) Wehelia AN

(C) wisaa w

(D) Wegesl T
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92.

93.

94.

Who coined about the efficient
utilisation of defence expenditure in
the form of standing army ?

(A) David Ricardo

(B) Jean Baptiste Say

(C) Adam Smith

(D) Malthus

Defence Budget does not deal with :
(A) of

Maintenance defence

equipment
(B)
(C)

Salaries of defence employees

Disaster management and
mitigation
(D) Procurement of new weapons

and equipment

“Teeth and Tail” ratio in military

logistics indicates .............. .

(A) A ratio between men and

materials

(B) A ratio between Arsenals and

men

(C) A ratio between men on front

line and reserve

(D) A ratio between men in fighting
forces and men in other than

fighting forces

92.

93.

94.
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HLEUMER B0 T 1 At Ageter
Hhedaes T-A1 3T ITAM Bl 319 T
JEIcTush! VT HSes R 7

(A) Seie Threl

(B) SF 9Mfe= 9

(C) 3fsw fEy

(D) HeUH

TV STSSIUSIeh § WTelieTdehl ShivTea

TMereft frrea A ?

(A) FX&IU FoSd=Al WIEAATHUTH
YT /e

(B) W&V TN T AfTehian WIR

(C) ST SHEEITH 371 Ee SUT-
BISE

(D) e ST 9 HETari= i
]

31 efur Tge ! = gHIT oehdl qREel-

I <9Ifad

(A) If7e enfor SreErEE gE

(B) TS HiaT A0 Sfer Acier oo

(C) Ifer enfor yeer g emenet anfor

qEe 9 Al GHT

(D) Y deed YN SN df e

T YA AT Iesd] o Hleh

Tt GHTOT
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95.

96.

97.

Who wrote the book entitled, “The

Economics of Defence” ?
(A) Galbraith J. K.
(B) Kennedy Gavin
(C) Kuithara Verghese

(D) Hitch Charles J and Mekan
Ronald N

Which one of the following is not the

characteristic of capitalism ?

(A) Principle of self-interest

(B) Limited duties of the
Government

(C) Principle of market control

economy
(D) No division of labour

Who among the following opined the
concept of “Geographical Pivot of
History” ?

(A) Alexander De Seversky
(B) Karl Hanshofe
(C) Halford Mackinder

(D) A. T. Mahan

95.

96.

97.
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e e ® ek il fasd
e ?

(A) TEHT . .

(B) el Tfed

(C) =hiferen =i

(D) &g =cd 1 3f~s HehA IHfes T

TR IV AFTS T HISTeTeIet
Heiferd A& ?

(A) Hfedr T

(B) THHIE Hor= HA Sereer2

o tes

REIEL

AfHTTEI e

(C) INRYS
(D) SR faurmoie oy
“fsTThRied degle e et &
HheAT Welclush! ol Fafae ?

(a)

(A) ToRel fe o]

(B) el &4h

(C) THIE Hh3TIST

(D) W 3. HeH
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98. Strategic Studies is related with | 98. WHHIMTE=T g RIINI
study of : Hafad 3Tre.
(A) The military policies in the (A) oo e TSRt HRor
nuclear age o .
(B) FsuGdrEl Schldl
(B) The evolution of warfare
C) TSThIT TS TTe=hil HHLA=
(C) The use of military power for ©)
political objective o
(D) The use of military power for (D) TR 3 'B“E”é' TSR AT
military objective ELEN
99. Who coined the term “Cyber | 99. ‘HFeR @WH' & T3 HIUT I ?
Space” ? .
P (A) fefer fareriieg
(A) Linda Billgates .
(B) ¥H fusiat
(B) Sam Pitroda
(C) William Gibson (C) THIeTEs T
(D) E. D. Sarinton D) T 2 ¥
100. Find the correct chronological | 100. Eeie fa=Rad=T SHIEHATER AT
sequence of the following thinkers : W
(A) Haushofer, Mahan, Mackinder, . . .
(A) BISHT, HEM, HehaTaed, TH. . S
S.B. John
(B) A.T. Mahan, Mackinder, (B) T&. WeM, HHAEST, B,
Haushofer, S. B. John Tg.&t. A
(C) S.B. John, Mackinder, Mahan, (©) T, <. S, T, T, 39
Haushofer
(D) Mackinder, S.B. John, (D) AR, THAL T, A,
Haushofer, A.T. Mahan T.d. "'
39 [P.T.O.
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ROUGH WORK
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